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6- 

3

2
1

2 3 1
x x

f (x)
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---------------------------------------------- 
8-  »4 « A( , )  :          

) y x k k1 2 3 5 2 3 5  
2 22 1 1) y x x  

     :              
2

2 2
2 1 2 1 31 22 1 2 1

xxy x x y
x x

2 2 23 1 2 1 9 9 9 4 4 1  

forum.konkur.in



      11    98                                                                                     :15 
  

2 15 5 10 0 2  

1 1 1 1 1 1( , ) ( , )  
12 3 5 5k k  

---------------------------------------------- 

9-  »4 « 13 31 1
233 1

y f ( x ) y f ( x )
(x )
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س�اه
 

444 4 1 4 4 4 256  
---------------------------------------------- 

19-  »2« 
5 2 2 2 10 8 803 1 1 1  

 
 

---------------------------------------------- 
20-  »4«  

 

0 4 1
1 5 3

5
7

9 9 9
10 6 5 300

a b c

. .. .. .
  

---------------------------------------------- 
  3 

21-  »3 « 
           .  : 

 »1 :«          .   
 »2 :« )           (   

    . 

  
3   
 5  

   
  

  

 :  

:  

:      

     
 . 

    . 

forum.konkur.in



      11    98                                                                                     :16 
  

 »4 :«         A            
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22-  »4 «  

                .   
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 »1 :«NADH                   

  .   
 »2 :«  A           . 
 »4 :«2CO                
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   :     ( ) 1-       2-    
       .        ATP        .

                 .  : 
 »2 :«    NADH    .NADH        

 .     
 »3 :«          . 
 »4 :«    ATP    . 

---------------------------------------------- 
31-  »3 «  

                  .
          .  : 

 »1  :«                  .
           . 

 »2 :«         (   )     NAD     
  NADH           .   

          . 
 »4 :« .          

---------------------------------------------- 
32-  »4 «  

        2            
   3    .    : 

 »1 :«                  .

    NADH  NAD             

NAD                   .

         NAD ) .NADH( 

  »2 :«NAD       NADH       
        .             

            .NADH     )   
 (  )        (  . 

 »3 :«   2CO                .
NADH            2CO          

 .   
---------------------------------------------- 

33-  »4 «  
      ATP             ) 

     (ADP      .    ADP        ) .
   .(  : 

 »1 :«    ATP      .       .   
                .    

  . 
 »2 :«               .   

                       .
            ATP      .   

                   .
       ATP  .       

 »3 :«                      
         . . 

---------------------------------------------- 
34-  »4 «  

           (  )       
   . : 

 »1 :« ( ) .          
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 »2 :«          2FADH       .
 ( ) 

 »3 :«  .( ) .      
 »4 :«       10  73      

           NAD        .  

    NAD  FAD               
( ) . 

---------------------------------------------- 
35-  »3 «  

 :   
-    A        .  ( )   
-     2CO           )        
  ( ).( 
-         ( ). 
-                 

        NAD   ( ) . 
---------------------------------------------- 

36-  »4 «  
          2CO           

           A   A    . 
    : 

 »1 :«  8  70    3      2FADH  
        . 

 »2 :«  7    3  69         
     A       A    . 

 »3 :«          (   )          

NADH  NAD    .NAD  .     
---------------------------------------------- 

37-  »2 «  

  NADH         NAD      
     (  )          .

   . 
    : 

 »1 :«ATP  3               
   .         . 

 »3 :«       A          .
 A                    

  . 
 »4 :«2FADH              .     

        FAD   . 
---------------------------------------------- 

38-  »4 «  
 .               

---------------------------------------------- 
39-  »3 «  

    (  75            
  .            

     (               
. 

    (      FADH2          
     . 

 (                   
    ATP      .  

---------------------------------------------- 
  2 

40-  »4 «  
     .  ( )  

     )          (      
             )   .   ( 

41-  »3 «  
          .       .  

         .      
---------------------------------------------- 

42-  »3 «  
            .         

           .  
---------------------------------------------- 

43-  »3 «  
  3 !       

---------------------------------------------- 
44-  »4 «  

                        
         .         . 
   : 

 »1 :«        .         
 »2 :«                 

.    
 »3 :«                    

            
---------------------------------------------- 

45-  »4 «  
  2       1         T   

                     ( ) 
   .      : 

 »1 :«  1           .   
 »2 :«  1     .   
 »3:«   1                  
 .        

---------------------------------------------- 
46-  »3 «  

       T         .      
                   

                    
   . 

                  .  
---------------------------------------------- 

47-  »2 «  
  .                

   (               -
( ) . 

     (         
( ) .       

    (               
 ( ) .    

---------------------------------------------- 
48-  »3 «  

     46   . 
 »1« :.     
 »2« :          . 
 »3« :         . 
 »4« :    .           

---------------------------------------------- 
49-  »4 «  

         Y           
.           : 

 »1«   :         8    . 
 »2« :                  

.   
 »3« : .        

---------------------------------------------- 
50-  »4 «  

             .     
       .  
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 3 
51-  »2 «:    

.              ( 
      (       . 

       (            .
           0(x ) . 

  (   M  O                  
    .    )    O  N   M  O   (

            .      
---------------------------------------------- 

52-  »4 «                  
       –     :   

 
2100

54

Nkk radm
m kgm s

  

 0 2 5x Acos( t) x / cos( t)  

 1 50 5 0 2 5 0 2 02 2
t / s x / cos( ) x / cos( )  

 5 2 02 2 2cos( ) cos( ) cos( )  
     0x    .   20        .

               : 

 
5 1 22 2 5 5

rad
sf f / Hz T T s

f
  

                 4A  80 
              .        0 5t / s    

0x :           4 100A A cm 
---------------------------------------------- 

53-  »3 «               

A    .  1T
f

              
  .     

 2 12 2 2400 200
mAT sA kA

  

 

3
122 2 2300 200

mBT sB kB
  

 

5
122 2 2500 200

mCT sC kC
  

 32 2 200
mDT sD kD

  

   A B  C              
 .  

---------------------------------------------- 
54-  »3 «               

            .      
                 

                 .
                         

             . 
---------------------------------------------- 

55-  »1 «                
.   

 0 2 10 0 10 2x / cos t cos t cos  

 10 0 051 12t t / s  

                   
.       

 210 0 22 2t T T / s t
T

  

 0 22 40 051
t /
t /

  

    :      1 4
Tt              

 2t T         :   . 2 4
1

4

t T
Tt

  

---------------------------------------------- 
56-  »3 «               :   

 1 2
2E K mvmax m E U K  

 1 2 32 mv K Km  

 1 2 42 mv Km  

 1 12 242 2mv mvm  

 2 24v vm  

 12 2
vv vm vm

  

---------------------------------------------- 
57-  »4 «        x A         

 –     x Acos( t)  . 

 2 2 0 45
rad/

T s
  

 6 0 06A cm / m  
 0 06 0 4x Acos( t) / cos( / t)  

 
5

5 13 0 06 0 4 0 06 0 033 2
t s

x / cos( / ) / ( ) / m 

      5 20 4 3 3( t / rad)       
.             

---------------------------------------------- 
58-  »3 «         : 

 3 60 1 8100
tT / s
n

  
           : 

 2 22 4L LT T
g g

  

 
2 24 4 0 81 2
2 2 21 8
L / mg ( )

T / s
  

---------------------------------------------- 
59-  »3 «                   

               .    
       .   – :       

 
2 2 42 20 5 16 0 05 8 25 0 05

rad
mT / sa x a /

x cm / m s
  

 2 8 16F ma Nnet  
Fe

W 20N 
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                16N             .   
F Wnet          :       

20 16 4W Fe F Fe Nnet  
---------------------------------------------- 

60-  »3« 0 4 2 0 8T / s,T T / sM N M   

 2 2 2 2 550 4 0 8 2
rad rad,M NT / s T / sN

  

 2
k

k mF kx ma kx a x a x
m

  

 2 2a a x A cos tM N M M Mx xM NM N x A cos tN N N
  

 2 2A cos t A cos tM M N NM N  

 

1 52 12 22
2 2 5

AN
Acos tA N NMM ( )

cos t AN M M
 

 5 11
2 5 81

cos( t )
cos( / t )

  

---------------------------------------------- 
  2 
 
61-  »4 «    1 – 38  »4 «.      : 

 »1 :«                    
. 

 »2 :« .              
 »3 :«               

 . 
---------------------------------------------- 

62-   »3«
61 18 8 102 6 28 10 50502 2

C F FU CV U
V V

   

 
210210 23 35 5 10 5 10

UP
tU J P W

t ms s
  

---------------------------------------------- 
63-  »1 «         Q  .      

      0
AC
d

   . 

 5 102 2 2 1 1 1
31 31 1 1 2 1 12

C A d A d
C A d A d

  

: 32
101

VQV
C V

  

---------------------------------------------- 
64-  »2«                         

.          

 2 22 1
Q CV

Q Q C V
Q (C )(V )

  

 1212 22 1 612
Q Q C (V ) V V

VC
V

  

 2 6 0V V 

 
2

122 3 0
3 4

V V
(V )(V ) C

VV V C F
  

  :          

 12 6 1 2 26 2 121 22
2

C C F,V V V U J
U C V

  

---------------------------------------------- 
65-  »4«                

         .   

Ve
Un

ne
UV

neq
q
UV

 

 
61 6 10 2410191 6 10 10

/n n
/ ( )

 

---------------------------------------------- 
66-  »2 «                

       610 m
s

    .      

                      

 1mm
s

            . 

---------------------------------------------- 
67-  »1  « 

 
R

rA

A

rB
RB

tA

tB

́

́

́
́

 

 22 2R r t t tA A A A B R r (R r )A A B BR r tB B B
  

 2 2
RARB

r rA B  

 4 4L LA BR RA B A BA AA B
 

 
2 2

2 2
2 2

A (R r ),A A BA A
R rA AA (R r ),R ,rB B BB B

  

 4 162 2 2 2
2 2

L L LA B A
R r LA A BR r ( ) ( )A A

  

---------------------------------------------- 
 1 

68-  »3 «           .   

 1 2 2
2

mK mv J kg( )
s

  

 2
2

kg.m mW F d [W] N.m m kg( ) J
ss

  

---------------------------------------------- 
69-  »2«       :   

B

B

A

A

BA

BA

BA
mm
mm

VV
mm 

33 10001

8021
51
51

m
kg

cm
g

/
m

/
m/

mm/
BB

BB 

---------------------------------------------- 
70-  »3 «                       

                48J   . 
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6011
1 1 4 21 1 12 2

18022
4 42 2 2

W F dcos( )F

F d F F
W FdcosF

W F dcos( )F
F d F F

  

 1022 4 48 2 4 10 441 2 1 148
F NW F F F F NT W JT

  

---------------------------------------------- 
71-  »4 «                  

22 1m m   22 1E E  . 
               .   22 1E E   

: 1
1 22K K  

---------------------------------------------- 
72-  »4 «                 

     . 
                   

             .      .   
.   

---------------------------------------------- 
73-  »2 «            . 
 1 1 1E K U  

 1 12 0 400 2001 12 2E mv m m(J)  
               . 

 1 252 12 52 2 2K mv m / m(J)   
    :    

 1 2 1 2 2E E E K U   
 200 12 5 187 52 2m / m U U / m(J)   

 187 52 1512 52
U / m
K / m

   

---------------------------------------------- 
74-  »3 «     – :     W W Wt   

   WP
t

    . 

 1 12 2 2 2W mgh mv P.t mgh mv  

 32 10 50 10 40 25 400 15t t s  
---------------------------------------------- 

75-  »2« 01 1 11 2 1 202 2 2
K K KA B CE E U K
U U UA B C

   

 

1 22 42
1 22 2 22
1 23 3 22

A : mg( h) mv v ghAA

B : mgh mv v gh v v vB A B CB

C : mgh mv v ghCC

  

  W U mg( h)  

 
0 2 2

2 0 2
3 0 3

W mg( h) mghA
W mg( h) mgh W W WB C B A
W mg( h) mghC

  

---------------------------------------------- 
76-  »1 «               

.    

 1 12 202 2W W W mv mvt f mg  

 11 10 10 1 64 682
W mghmg W W Jf f  

 68 0 68100
Wf /

Wmg
  

---------------------------------------------- 
77-  »2 «           (f )D     

 : 

 
1 12 202 2

00

K mv mv
Fd f d Wd KD v

  

 
2 16 301 2
32 202

mm kg, v ,F N
sFd f d Wd mvD d m,W mg N

  

f f f ND D D
21 320 16230 32 32 20 32 2 16 22 32  

         F           

   :          .1 12 212 2f d mg d mv mvD  

 
20 16 12821 2 20 16 22 11

v d d d m  

: 128 19202 2 2 32 11 11W f (d d ) ( ) Jf DD  
---------------------------------------------- 

 3 
78-  »2 « »1 :«             

   .        
 »3 :«    14Si  . 
  »4 :«            2SiO . 

---------------------------------------------- 
79-  »4 «   .   ( )  ( ) ( )   :   

                  :( )   

       23CO  44SiO  .   
       :( )    .   

.           :( )  
---------------------------------------------- 

80-  »2 « ( )  ( )   . 
      ( )      .   2CO  2H O   

2SiO  .     
 .             ( )   

 .         ( )   
---------------------------------------------- 

81-  »2 «   (C  Si              
    C C   Si Si  . 

   (      .           
     (             

    . 
---------------------------------------------- 

82-  »3 «                     
      .       .           

                  
                     

     .                
  .      

---------------------------------------------- 
83-  »1 «  2 3Al O 2Na O 2 3Fe O  MgO     ( )    

  2(H O)  .   ( )       
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C C

H

HCH

H

C

H

H

H

H

H

H

  (Au)  .   ( )       
 .           

---------------------------------------------- 
84-  »3 «         )        

    (    .        
           :    . 

  (  .     (  )   
                            (

             .            
       . 

---------------------------------------------- 
85-  »3 « 

 13 32 2 0 666 2 100
/ TonH O

/ TonH O
Ton

5Ton    : 

 13 32/       0 666/ Ton           .
       2 3Fe O    . 

 .               
 5 0 666 4 334: / / Ton      

/ TonSiO
/ TonSiO

Ton
46 20 2 2 31 2 1005: Ton      

 2 31 2 100 53 3 4 334
/ TonSiO

/
n/ To

       

---------------------------------------------- 
86-  »2 «                    

     .             
.    

---------------------------------------------- 
87-  »2 «      100  :   

 18 1 10
100 100

/ x:
x

     

 181 10 100 81 9 9x x x x  
 9      91      5/45  .     

 %45 5 100 502 91
/SiO% 

---------------------------------------------- 
 2 

88-  »1 «                 
                .  . 

---------------------------------------------- 
89-  »4 «                    

 : 

CH3 C CH2 CH CH2 C CH3

CH3

CH3

CH2

CH3

CH3

CH3 
    113 28C H  .28     28     ( )  

                     
) .12  C C    (40       .    

 :        :   
 3 1 3 13 1 40n ( )  

---------------------------------------------- 

90-  »4 «1        .  (  :
 

    

.   
2 ( )    .  (  88 18C H             

 18 38C H . 
3   ( )       .  (6 14(C H )   ( )  8 18(C H ) 

      28       282 4(C H g)    . 

4 :  (    )    .  ( 

وو

 
---------------------------------------------- 

91-  »3 « :   .      
   :  17  32               

 .      

 :   2
0 3
* C C C C C C C

C C

C

* C

C

C

* 

* :    2   
 :    3   

        :  7                     .  

 
    :  13  .       

 
 
 

---------------------------------------------- 
92-  »3 «        4       .       

 
2 0 8 642 6 2 22 62 1 2 402

C H CO / mol x gC H MgO
(CO MgO) mol g

  

---------------------------------------------- 
93-  »2 «  

 115 5 12 186/ g.mol    
 24 160 186 2x x 

   2 2(C H )     .       
 2CH CH Br CHBr CHBr  

---------------------------------------------- 
94-  »2 «                   

  .      
---------------------------------------------- 

95-  »1 « »1 «        :2   45         
               .     

 »2 «      :         . 
 »3 «    :2 2C H . 
 »4 «    :        . 

---------------------------------------------- 
96-  »3 «      .       

 (  5                  . 
  (                   

 . 
      (  .             

  (        .     
---------------------------------------------- 

97-  »1 «                   
         .               

                       
  .         159     21      %

         39/33    . 
---------------------------------------------- 

  1 
98-  »3 «   : 

 »1 :«                   .
 ( ) 

 »2 :«        ( ) .        
 »3 :«                   

     ( ) .   
 »4 :«         ) . ( 
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..
: X :

| ....
:X C X :
.. ..|

: X :
..

99-  »2 «          1  7     . 
---------------------------------------------- 

100-  »1 «1  ( 

 10 13 429 29A Cu :[Ar] d s  

 5 13 424 24B Cr :[Ar] d s  

 1419 19C K :[Ar] s  
2   (n l  .   
3       .  (      3s  3p      

 . 
4   .  (      3d     29Cu  . 

---------------------------------------------- 
101-  »3 « A :  ..B   He      15   . 
-   A   18    .    

-     21He : s  
-      3       Ne    . 
-   B    15   .   31Ga       

 . 
---------------------------------------------- 

102-  »4 «       1  X     35   : 

 10 2 53 4 435Br :[Ar] d s p  
 : 

1  ( 
2      (2 2(MgBr )YX  
3   (8     s   . 
4   (12  .     
   

---------------------------------------------- 
103-  »2 «    (Na )           

 3(N )     :   

     10Ne  . 
2 2 61 2 211

3 2 2 61 2 27

Na : s / s p

N : s / s p
  

---------------------------------------------- 
104-  »3 «  

 2 6 2 54 4 4 4C : s p C : s p  

 2 5325 18Mn :[ Ar] d  
      p     C        

 d  2Mn  .   
---------------------------------------------- 

105-  »2 « (NaCl                 
 ( )   

   (Na  Na                  
 ( ) .   

 (11Na  17Cl  ( ) .    
 (NaCl      ( ) .     

---------------------------------------------- 
106-  »3 «  26Fe    :   

   s p  d    l  0 1  2  . 

 2 2 6 2 6 6 21 2 2 3 3 3 426Fe : s / s p / s p d / s  

 62 2 2 6 2 631 2 2 3 326 pFe : s / s p / s d  
      3 2 5n l                  4n l  

                6                           6  

 2 2 6 2 6 21 2 2 3 3 420Ca : s / s p / s p / s  

 2 2 2 6 2 61 2 2 3 320 Ca : s / s p / s p  

 2 2 6 2 6 10 11 2 2 3 3 3 429Cu : s / s p / s p d / s  

 2 2 2 6 2 6 91 2 2 3 3 329 Cu : s / s p / s p d  

 2 2 6 2 6 10 21 2 2 3 3 3 430Zn : s / s p / s p d / s  

 2 2 2 6 2 6 101 2 2 3 3 330 Zn : s / s p / s p d  
---------------------------------------------- 

107-  »2 « 

 3 33 1AlF  : 

 1 11: CaO  

 
1 1 3 43 3

X e ZZ Z Z Z Z
Y e ZZ

  

---------------------------------------------- 
108-  »4« 

  X   2 2 6 2 6 10 2 21 2 2 3 3 3 4 4s s p s p d s p   . 
      (3d  4p  n l 5   ( ) . 

 (5        n  l       10   .
 ( ) 

  (2XO      –      
.. ..

: O X O :   
    ( ) .         

    (               
       ( ) . 

---------------------------------------------- 
109-  »3 «  

     47         14 C   55 C     
55 C  7 C      7 C  87 C       3   

. 
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